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REASONING 
Cause & Effect Worksheet for MAH MCA CET 2025 
  
For students preparing for MCA Entrance Exam.

 
 
In each of the following questions, two 
statements numbered I and II are given. There 
may be cause and effect relationship between 
the two statements.  These two statements may 
be the effect of the same cause or independent 
causes. These statements may be independent 
courses without having any relationship.  Read 
both statements in each question and mark your 
answer as:   
 
1. 

I. The prices of vegetables have been 
increased considerably during this 
summer.   

II. There is tremendous increase in the 
temperature during this summer 
thereby damaging crops greatly. 

A. If statement I is the cause and, statement 
II is its effect.   

B. If statement II is the cause and 
statement, I is its effect.   

C. If both the statements I and II are 
independent causes.   

D. If both the statements I and II are effects 
of independent causes.   
 

2.  
I. Police resorted to lathi-charge to 

disperse the unlawful gathering of large 
number of people.   

II. The citizens' forum called a general 
strike in protest against the police 
atrocities.   

A. If statement I is the cause and, statement 
II is its effect.   

B. If statement II is the cause and 
statement, I is its effect.   

C. If both the statements I and II are 
independent causes.   

D. If both the statements I and II are effects 
of independent causes.   

  
 3.  

I. It is the aim of the city's civic authority to 
get the air pollution reduced by 20% in 
the next two months.   

II. The number of asthma cases in the city is 
constantly increasing. 

A. If statement I is the cause and, statement 
II is its effect.   

B. If statement II is the cause and 
statement, I is its effect.   

C. If both the statements I and II are 
independent causes.   

D. If both the statements I and II are effects 
of independent causes.   
  

4.  
I. The police authority has recently caught 

a group  of house breakers.   
II. The citizens group in the locality have 

started  night vigil in the area.  
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A. If statement I is the cause and, statement 
II is its effect.   

B. If statement II is the cause and 
statement, I is its effect.   

C. If both the statements I and II are 
independent causes.     

D. If both the statements I and II are effects 
of some common cause.  

 
5.  

I. The university authority has instructed 
all the colleges under its jurisdiction to 
ban use of all phones inside the college 
premises.  

II. Majority of the teachers of the colleges 
sighted a joint petition to the university 
complaining the disturbances caused by 
cell phone ringtones inside the 
classrooms. 

A. If statement I is the cause and, statement 
II is its effect.   

B. If statement II is the cause and 
statement, I is its effect.   

C. If both the statements I and II are 
independent causes.   

D. If both the statements I and II are effects 
of independent causes.   
 

6.  
I. Rural and semi-urban areas in the 

country have been suffering due to load 
shedding for quite some time.  

II. If the government is not able to 
overcome the power crisis, load 
shedding will be extended even to the 
urban area.  

A. If statement I is the cause and, statement 
II is its effect.   

B. If statement II is the cause and 
statement, I is its effect.   

C. If both the statements I and II are 
independent causes.   

D. If both the statements I and II are effects 
of some common cause. 

 
 

7.  
I. Most of the steel producing companies 

in the country have made considerable 
profit during the last financial year.   

II. Many Asian countries have been 
importing huge quantities of steel from 
India. 

A. If statement I is the cause and, statement 
II is its effect.   

B. If statement II is the cause and 
statement, I is its effect.   

C. If both the statements I and II are 
independent causes.   

D. If both the statements I and II are effects 
of independent causes.  

 
8.  

I. The literacy rate in the district has been 
increasing for the last four years.  

II. The district administration has 
conducted extensive training 
programme for the workers involved in 
the literacy drive.  

A. If statement I is the cause and, statement 
II is its effect.   

B. If statement II is the cause and 
statement, I is its effect.   

C. If both the statements I and II are 
independent causes.   

D. If both the statements I and II are effects 
of independent causes.  

 
9.  

I. There has been an increase in water level 
of all the water tanks supplying drinking 
water to city during the last fortnight.   

II. Most of the trains were cancelled last 
week due to water logging on tracks.  

A. If statement I is the cause and, statement 
II is its effect.   

B. If statement II is the cause and 
statement, I is its effect.   

C. If both the statements I and II are 
independent causes.   

D. If both the statements I and II are effects 
of some common cause. 
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10.  

I. India has surpassed the value of tea 
exports this year over all the earlier 
years due to an increase in demand for 
quality tea in the European market.   

II. There is an increase in demand of coffee 
in the domestic market during the last 
two year.  

A. If statement I is the cause and, statement 
II is its effect.   

B. If statement II is the cause and 
statement, I is its effect.   

C. If both the statements I and II are 
independent causes.   

D. If both the statements I and II are effects 
of independent causes.  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Answer Key 

 
1. B 2. A    3. B     4. D    5. B     6. D   7. B    8. B 9. D 10. C    
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